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BEET BEET  RHER  pnn 1; :i 222 fég
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E U m2  48.932
ThE T it m2  48.932
HSEEET  BBET L L L
hiE m2  48.932
t# m2  48.932
2 EH  XAOH
i+l OmGpH 2 83k = 2.700 +  1.000 = 3.700
Al= 2.700 X 3.700 X 2 @ X 2 #f = 39.960 m2
A2= 1.440 X 3.700 X 1 @ X 2 Hrf = 10.656 m2
A3= 0.120 X 3.700 X 2 @H X 2 #f = 1776 m2
BEfFER Ad= —1.730 X 1@ X 2 HF = -3.460 m2
TH; DA= 48.932 m2
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FHHE w2 350 420
BETF#H  m2 | 350,420
s s Re-1 T% m2 350. 420
BERT BEET  RURM pez & m2 350,420
P m2  350.420
t® m2  350.420
(2) & RERhR
LAH|
A= 118. 251 X 1.600 = 189.202 m2
R{HI
A= 100. 761 X 1.600 = 161.218 m2
FIR SA- 350420 m2
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Al= 2.700 X 5.300 X 1@ X 1M vz = 14.310 m2
A2= 1.440 X 5.300 X 1@ X 1M TFT7IoYFm = 7.632 m2
A3= 0.120 X 5.300 X 1@ X 1M TFTr7orovbm = 0.636 m2
THT A= 22.578 m2
(3) G1#rA1-P1
Al= 2.700 X 3.000 X 1@ X 1#f w7 = 8100 m2
A2= 1.440 X 3.000 X 1M X 1#r F73oYFH = 4.320 m2
A3= 0.120 X 3.000 X 1M X 1#f F735oYFEH = 0.360 m2
IHF A= 12.780 m2
(4) G2#TP2-A2
Al= 2.700 X 3.000 X 1@ X 1#f w7 = 8100 m2
A2= 1.440 X 3.000 X 1M X 1#f F73oYFH = 4.320 m2
A3= 0.120 X 3.000 X 1\ X 1M Frzorvtm = 0.360 m2
IHF A= 12.780 m2
(5) &5t
THiEF TA= 48.138 m2
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Bl WA Big - HiE Hu #® B g =
L4 m 217.027
HkEMIET HKEMEL  ESMRIEERFRPY-H REAY m 24.570
a% m 51.597
Q) HKEMIEL  IEFTY-V IR 0= 0.819 /&P
LAR|
A1-P1
N= 18 = 18 &P
L= 0.819 X 18 = 14.742 nm
P1-P2
N= 15 = 15 &6
= 0.819 X 15 = 12.285 n
LAl A= 27.027 m
RAAY|
P1-P2
N= 16 = 16 =5
= 0.819 X 16 = 13.104 m
P2-A2
N= 14 = 14 &7
L= 0.819 X 14 = 11.466 m
Rl ZA= 24.570 m
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D2 FEiEs D16 440 | 64 | SD345 439 | ke | 1.56 kg/m (UFFH)
=X 85.9 | ks
#iITHa>oU—+ 1.752 | m?® | ock = 24N/mm2
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1) /25

Al= 11.000 X 5.000 = 55.000 m2
A2= 4.000 X110.700 = 442.800 m2
A3= 11.000 X 10.000 = 110.000 m2
Ad= 4.000 X 73.700 = 294.800 m2

A= 902.600 m2
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& Al o Al g - STk B #%H = " &
R m2 | 498 750
ETH | m2 | 498.750
s - Ro- I T m2 | 498.750
RBET RERT RIRIR | ez & m2  498.750
thig m2 | 498.750
t® m2 | 498.750
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iR m2 498. 750
FRE T i m2 498. 750
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A= 4.000  x237.500 = 950.000 m2
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Bk T \fpET 5 2 6.000 2FBH LS
SUBRE SURKBRE e EESURE BT ALy m Eruy
HOKERET | HKEWHIET | ESMSELEERP-| LA m | 8999
= =i AR AT 0.819%0.1016 m2 | 8.737  105%F
B Ei5
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iE Al i Al R - ~Ti& B #H = B =
FHRE  m2 | 878 4
BETH | m2 | 878444
s o Re- 1 T m2 | 878.444
RERT BEET  RERM gz T2 m2 878,444
thig m2 878,444
t# m2 878,444
(2) ERKRIR
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A= 373. 806 X 2.350 = 878.444 m2
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2 Al i Al R - Tk B #WM = 5 &
. . - Bk URBRE R nUI-
SURKRET SURKRET 47 B = URE 27 LY m2 6. 000 HHTE
(2) G1#7A1-P1
Al= 2.600 X 2.000 X 1@ X 1#f w=7 = 5.200 m2
A2= 0.400 X 2.000 X 1@ X 1#f F7ooYFbE = 0.800 m2
EHF A= 6.000 m2
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QHKERBL  RUEFTEZ VMR (@D= 0.819 n/fEfT)
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N= 18 + 11 + 19 + 18 + 10 + 10 + 10 = 105 fHpT
L= 0.819 X 105 = 85.995 m

,21,



5 RRT KEHH
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& Al it Al K - Tk B #H = " &=
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